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o WAl I AA § vge IE YRARTT T o o 3mut we AR qot geet o fe
AT ¢, TNETT & 916 57 Hael 7 HIE a1 AT oT81 §19m|

Before answering the questions, ensure that you have been supplied the correct
and complete question paper, no claim in this regard, will be entertained after
examination.

General Instructions:

AT Ader:

Read the following instructions very carefully and strictly follow them.

(i) Question paper comprises six sections A, B, C, D, E and F. There are 40 questions in
the questions paper. All questions are compulsory.

(ii) Section A-Question no 1 to 20 are Objective questions ( 1 to 20 -multiple choice, one
word answer, fill blanks ) carrying 1 mark each.

(iii) Section B-Question no 21 to 28 are very short questions, carrying 2 marks each.
(iv)Section C- Question no 29 to 32 are case study questions carrying 3 marks each.

(v) Section D- Questions no 33 to 36 are short answer type questions, carrying 3 marks
each.

(VI) Section-E Questions no. 37 to 39 are long answer type questions, carrying 5 marks
each. Answers to each question should not exceed 120 words.

(vi)Section F- Questions no 40 is map based, carrying 5 marks. Part A is from history
(2Zmarks) and part B is from geography (3 marks).

(vii) There is no overall choice in the question paper. However, an internal choice has
been provided in few questions. Only one of the choices in such questions has to be
attempted.

(viii) Attach map along with your answer book.

(ix) In addition to this, separate instructions are given with each section and question,
wherever necessary.

Section-A (1x20)

Tick the Correct answer

el 30X X [ereT eemsu



Q.1 Which of the following towns of saraswati sindhu civilization were capital cities ?
A)Harappa and Mohenjodaro C) Rakhigarhi and Banawali

B) Rakhigarhi and Dholavira D) Harappa and Banawali

fAefaf@d # @ @l @ TrEad @Yy Jegar & T 791K T 2

A) BSWI UG Hlgegollell C)THETET  Tg §ATdell

B) TGS Ta el D) §STAT UG SoATdell

Q.2 Which one of the following Religious ritual is associated with Christianity ?
A) Baptism C) Shabbat

B) Barbarism D) Shinto

PrfafRd & @ #i O SO o § Gefid e R & 2

A) SfeqeAr C) read

B) seRTA D) frar
Q3 The first battle of Taraian was fought in which year?

A) 1131 C) 1391

B) 1191 D) 1231

RISIT HT Teell Jeo fobd a¥  garm |
A) 1131 C) 1391

B) 1191 D) 1231

Q.4 Who wrote the book “ Economic History of India” ?
A) Dada Bhai Nairoji C) Mahatma Gandhi

B) Jawahar Lal Nehru D) Ramesh Chandra Dutt

¢ TRIAAF BRES 3 33T 0 ATHe gEde fhd A forddr |



A) ETeT H1S FRISH C) FgTeAT amiedy
B) SIATER oTel &g D) IR g &d

Q.5 Which scientist is known as *“ Missile Man of India”?

A)Homi Jahangir Bhaba C) Vikram Sarabhai
B) Dr. APJ Abdul Kalam D)Ramanujam
frg defas = 9Ra &1 Aasa da Fer Sar § |

A) B FgrRiR amem C) faae arRTes

B) ST TULS 3Hegel Shelld D) THATTTH

In each of the questions given below , there are two statements marked as Assertion (A)
and Reason (R). Mark your answer as per the codes.

Q.6 Assertion (A) After the Jallianwala Bagh massacre of 1919AD and the suspension of
the non-cooperation movement , the revolutionaries of India started to organise.

Reason (R) In 1945 AD, Simon commission came to India.

A) Both A and R are true and R is the correct explanation of A .
B)A is true but R is not the correct explanation of A .

CO)A is True but R is False.

D) Both A and R are false .

IfAFUA (A) 1919 F FTTAIIGTST dIWET & §cATHRIS T FHGIAT HMGIelel o TUIA H
dle IR & HIfdrr HITSA glell YT T |

$RUT (R) 1945 H TAEHA HiAWT HRA JT |

A)ANRT R T T & 3R R, A &7 g =g § |
B) A 3R R g @& & 3R R, A &1 @& sarear 78 2
C)ATT ¢ e R 38T ¢ |

D) A 3R R gt 3T § |



Q.7 Assertion(A) Iron and steel industry uses iron ore, coking coal, Limestone and
manganese as raw material .

Reason (R)limestone is a fluxing material and manganese is used to harden the steel .
A) Both A and R are true and R is the correct explanation of A.

B) Both A and R are true and R is not the correct explanation of A.

C)A is True but R is False.

D) Both A and R are false.

HAHYUA (A) ol Ta FEIT 36T & AU &g 3aEw , Hfher Fel, T T
aar Heeler e Fed Aol i 3MaTRar g ¥ |

HROT (R) IeAT Teh IMMeteh G&Td § 3 ATEAIST FEUTT &l R Sellel & A ATl
g |

A)A 3R R & @& & 3R R, A fr @é egrear ¥
B) A 3T R g @& & 3R R, A &1 & e 78 ¢
COATT ¢ dfheT R 31T & |

D) AR R @ 38T § |

Q.8 Which one of the following are kharif crops ?
A) Wheat and Gram C) Wheat and Barley

B) All of these D) Paddy and Maize

Afafla & @ sladt @@w f wge 2
A) g TF T C) g Ta Sit
B) 3Wied Tt D)4 Ug HarehT

Q.9 Which one of the following city is not a part of Golden Quadrilateral Super
Highway ?



A) Guwahati C) Chennai

B) Bangalore D) Ahmedabad

SoH O Hid & 79N F&OTH Tl HeT UoANET w1 BEAr FE 82
A) TraTgTer C) =13

B) S9N D) 3EHCISIG

Q.10 The Waloon region of Belgium has ............ speaking community.
A) Dutch C) French

B) German D) None of these

A) T C) %a
B) ST+ D) 38 § HIS g

Q.11 The distinguish feature of a Federal Government is..................
A) National government give some powers to the provincial government.
B) Power is distributed among the Legislature , Executive and Judiciary.
C) Elected officials exercise supreme power in the government.

D) Governmental power is divided between different levels of Government.

NI THR T T Afsear §;
A) T WHR 30 FS JUFER Tl TWHRT H &dr § |
B) 3if¥eR  uRer , sRufeer 3R =g aifeer & &g 9 s § |

¢) fAaifaa ug e & WeER & Fafca drehd &7 3990RT A & |

D) THR &1 AfFd ma & e T & i §¢ Sy § |

Q.12 A person who does not discriminate others on the basis of religious beliefs .........



A) Communalist C) Secularist

B)Feminist D) Casteist

IFAAT & ST UIfHS TEAT & 3TUR R ASHTT o el alell STTFA ...

A) FFYeIRfs C) g3 fAgeT
B) AT{1aTer D) Srfaarte

Q.13 Which among the following parties believe in Marxism -Leninism ?
A) National People’s Party C) Indian National Congress

B) Communist Party of India D) Bahujan Samaj Party

AFATITET & T ST T gof AFYAG 3R e & faarg @ar § |

A)  AeTd digeq U C) ST AT FHEIH
B) hEgferae el e gisar D) SgSTel HHATS qréf
Q.14 Democracy is preferred over Dictatorship everywhere except.............. (Country)

........................ (227) P BISH &L SHIE NFddT P dARMET F 3W aRIAT 9o g

Q.16 What is the full form of IMR ?

IMR &I fa&Jd &9 §aTC |

Q.17 The value of all final goods and services produced within a country during a
particular year is called ...........

forell Sor & ofiaR fohdll T ¥ & scuriea |efy 3ifae a&g3i 3R Qarsh &



A) Banks and Cooperatives C) Traders and Money Lenders

B) Both A and C D) None of These

AT &9 RKUT A e & O Hia gfFafea § ...

A) & g HedrT "iATd C) SUURY TF AGHR
B) A 3R C a= D) 31 & IS 8T
Q.19 Which one of the following is/ are Multinational Company ?
A) Ford Motors C) Maruti Suzuki

B) Coca Cola D) All of these

ﬁm%@aﬁﬁaﬁﬂmwang@w HETT & 2

A) WIS AlcH C) AR Fofehr
B) ShIdT dlell D)3WIFd T

Q.20 The Government of India enacted a law , RTI ( Right to Information ) Act in
which year ?

A) 2017 C) 2007

B) 2015 D) 2005

HRA TR @Rl , AT 1 AR HAHIH hd aRe fomar a2 |

A) 2017 C) 2007
B) 2015 D) 2005
Section- B

(Very Short Answer Questions) (2x8=16)

Q.21 Define Ziggurat .

fomRer &1 o & |



Q.22 Write the name of two passes from which foreign invaders entered India .

39 & Xf & 17 O Fgr ¥ 3l IMFAvERY 9IRT A 93T g o |

Q.23 Write two steps taken by government to protect Biodiversity .

TR @RI Sia fafaerdr & @efor gq 3o 90 &Y HeA o |

Q.24. Give reason why Tea cultivation is labour intensive Industry .

I Teh HH ool 36N § | HROT FAIT |

Q.25 State two elements of the Belgian Model .

IfCTTH & AlST & & dcd adiv |

Q.26 Explain why the period after 1990s saw the beginning of Era of Coalition
Government ?

SAEAT &Y AT FAT 1990 &1 319 & dc 2T A ISadd WHR & ciX Fr
AT §S 2

Q.27 Why do lenders ask for collaterals while lending ?

YRSl HHAYS RHUIHTYR T ART FF ATl § 2

Q.28 What do you mean by ISI and Agmark ?

TS, T, 3. 3R TIAE F 3T FAT THSA § 2



Section- C
(Case Study Based Questions)(4x3=12)

Q.29 Read the Extract given below and answer the questions that

following question

During the period of anarchy after the fall of the Roman Empire in the fifth century,

people donated their lands to the church, due to whch the cathedrals became the owners
of large manors. The Pope is responsible for the maintenance of the property of the
church so his power has increased. The Pope’s influence in Europe increased after the fall
of the Roman Empire. Later, Christianity was divided into two parts.

Answer these questions :

Q29.1The religious place of Christians is known as.......c.c.... (1)

Q29.2 What do you mean by period of anarchy? (1)
Q29.3 Pope refers t0 ..oeeeccvcene (1)
A) Supreme religious teacher C) King

B) Peasant class D) Elite Class

Q.29 U 91T @ &I &7 ¥ g2 3N 3 ¢

qradl W&T H UAT WHGT & el & 1 3RTSThdl & Hlel H el o 39er fa
T A g A& | TSHE HROT ARG 98- 957 St & F&e ¥ I |
femeR &1 Haf & @ @G T alf@icad 99 H AT § | 3 3HA AP TgA
g8 =AY | VAT FHST & e *m@ﬁ@%qﬂﬁﬁmg‘s’l
FIATaR A ST A ar AN H §¢ I=T 7 |

eIfa@d 99t & 3 <
Q29.1 TS 4 & UfHS TAT BT oo, gl STdr gl (1)

Q29.2 3RTShdl & I T FIT AFATT § ? (1)



Q29.3 9T H IHAIT T .........
A) Hafed ge T C) dAC
B)ferareT aef D) ol Tdm (1)

Q.30 Read the following paragraph and answer the questions

When the soil fertility decreases, the farmer shift and clear a fresh patch
of land for cultivation .This type of farming allows nature to replenish the
fertility of the soil through natural processes: land productivity in this type
of agriculture is low as the farmer does not use fertilizer or other modern

inputs. It is known by different names in different parts of country.
Answer these questions:
Q30.1 Which type of farming is being discussed in the paragraph. (1)

Q30.2 This type of agriculture is mainly practiced in which states of india

?

A) Assam B) Chhatisgarh
C) Both A and B D) Haryana (1)

Q30.3 The yield is very high in this type of agriculture. (Yes/NO) (1)

Q.30 foU 9T @ & &7 ¥ U8 3R 3R ¢ :

SIS FeT I AT A g S § o fhdlel 38 fH & ghs H FAETART &l
ST & AR N & AT {7 &1 g@ T gohsT @6 A 8 | W & TH IR &
TATATCROT § Tiehiceh Gishamsit gart fAeer foh 38ar afed ¢ S & | <[
fohdTeT 38T 3rUaT 317 MY Tehellehl & YANT A6 A SATY H ThR H




H A 3cUGerar A gl § | 3 & faffiest sl A 38 v for 3 A Afdes
JAY ¥ AT ST §

fFAfafad weat & 3 ¢

Q30.1 SWRiFT oG F FE TR T FO 7 aviT § 2
Q30.2 Ig $¥ R & fhd ToF A H 1 82

A) @A B) ofdues
C) A 3R B gmr D) gRamom

Q30.3 TH $ A Scdlest sgd Hh g & | (87 \ 77 )

Q.31 Read the Extract given below and answer the questions that follow :

Democracies that follow a federal system all over the world tend to have
two kinds of political parties: parties that are present in only one of the
federal units and parties that are present in several or all units of the
federation .This is the case in India as well. There are some country-wide
parties , which are called ‘National parties’. These parties have their units

in various states.
Answer these questions:

Q31.1 The national parties are given a unique symbol by the Election

commission (TRUE/FALSE) (1)
Q31.2 Give one example of a national party. (1)
Q31.3 A party has to secure at least .......Percent of the total votes in Lok

sabha Elections or assembly elections in four states to be recognized as

National party. .

A) 16% B) 6%



C)27% D) 33% (1)

Q312U 3T @ & &I ¥ Uz 3R 39 <

faeg & FET T SHITAT aTel AFdal A &I dig & AoEIdd Gol & ;| ET Shsar
H ¥ A% th SHS A ARdcd 1@ el gl AR 3=l a1 99 Fr gt sosar &
3T &dca @ dl&ﬁl%ﬁﬁﬂﬁﬁﬂﬁ%lﬁﬁ?éﬂﬁﬁ%ﬁ?%
3R 3¢ TET 9Tt gl JATAT § | 5T gail dr AT Il H HEAl & |

RAfaf@a ueat & 39T &

Q31.1 T aifeal @l HaTeeT 3T Ry el goArd Keg feam Siar & |
( 8T/ 8T

Q31.2 TSI ST I Th 3GI6X0T ¢ |

Q31.3 frdll g @1 AT & AT AT e Fel & oy, s garg |

Fol AT AT IR TSAT H U3 FeT Al &M ..o gfaerd giie T 8idr ¢ |
A) 16% B) 6%
C) 27% D) 33%

Q.32 Read the Extract given below and answer the questions that follow:

AS the methods of farming changed and agriculture sector began to
prosper, it produced much more food than before. Many people could now
take up other activities. There were increasing number of craft persons
and traders. Buying and selling activities increased many times. Besides

there were also transporters, administrators, army etc.



Answer these questions:

Q32.1 Name the Primary activity being mentioned in the above paragraph.

(1)

Q32.2 Craft persons belong to which sector of economy?

A) Primary sector B) Secondary sector
C) Tertiary sector D) None of these (1)
Q32.3 The .....o..... Sector source raw material from primary sector. (1)

Q32feT 3T oW T &IT F U IR IR S

qgel I JolelT A IU&TIhcl Wk ScuTcel gl ofdll | 3 3feieh ollaT gEX A il
el | RIfewdt iR samaiat fr @ear A g g ool | swa-fasha b afafafeE
%S 0T ¢ I | 38 AR 3 oler aRageT , Temas AR A wrF
gcaIfe § ST ot |

fArafaf@d geat & 3 ¢

Q32.1 3T o@ A g wafAs har &1 quie § ?
Q32.2 RAIeUFR ITcyaedT & fhy &13F H 3H1d ¢ ?

A) yrafAs C) fcus

B) afica® D) a1#l & Hig
Q32.3 Gfada® &7 , . 8T W FTT AT YITT HAT § |




Section-D
(Short Answer Type Questions)( 4x3=12)

Q.33 Briefly describe the revolutionary activities by Chapekar brothers in the freedom
struggle of India.

HRA & AT eIl A d9eRT SY3T S Hifaepl afafear &r sarear & 1 (3)

Q.34 Give three reasons why there is tendency for the Sugar mills to shift and
concentrate in the Southern and western states of India? 3)

o oo ast & el el a1 Hoheet afator 3R aiR"gd T A & WY |
et dRoT o |

Q.35 Explain the conditions under which democracies accommodate social diversity.

digdy foha Tufaar & aenfoe fafatar & gesrmerar § 3R 390 da e
Jorar g ? 3)

Q.36What do you understand by liberalisation of Foreign trade? Explain in about 30-
40 words.

TRl IR & 3ERIeuT & 39 4T FASTd 62 30-40 Tsal A IrEdT hiord | (3)

Section- E
(Essay Type Questions) (5x4=20)

Q.37 Briefly explain the origin of Jainism and “mahavratas” | (2+3)

A &9 & 3cufa va ‘F@grgar Hr e W

OR

“The society of Saraswati —Sindhu civilization was divided into many classes”. Explain
this statement citing Examples

TIEIA-TAY FIGAT T FATST 3Aeh qdif A fasnfaid a1 | 3emeor |fgd sgrear
Y | ()



Q.38 Describe how rainwater harvesting in semiarid regions of Rajasthan is carried
out.

TSTEAT & HOYSh & & awl Sl TIel v JehR foham ST & 2 s
fofarT | (5)
Or

Black soil is known by which other name. write its main characteristics and
geographical distribution in India.
(1+2+2)

drell TAE 3w g 17 @ S St & | $8h H&T fAAVae U #Rd &
Ao faavor aqam |

Q.39 The constitution clearly provided a three- fold distribution of legislative power.
Explain .

AU & TISC & A ohg 3R T0T WART & a9 AR & = /=@ &
dier a7 § | SOrEdr HY | (9)

Or

Discuss the proportion of Women in Legislature of India. Explain about initiative taken
by government to increase their proportion in Panchayati Raj .

AR T faenider A Afgem JAfAfERy & 3equra ) Tl A | TWHR @
AT ST SHAEAT A 31T eI o1 F O O 7 cH FT gl HY |
(2+3)

SECTION-F

(MAP SKILL BASED QUESTION)(2+3=5)



Q.40 A. On the given outline map of World show the following places:
feT & R 1w Ta¥Er AT | Arfaf@d e #i gt

a. Origin place of Judaism
Tgie gediet &1 3ear T

b. Germany

AT

Q.40B. On the given outline map of India show the following places: 3
RT & BT T TRET AT & Feafaf@d sumel # gufsw:

a. Bhakra nangal dam

b. Digboi oil field
fSores dor &

¢. Kandla port
HISAT Uelel



